2.4

1) Through (2,3),slope = undefined

x=2

3) Through (2,2),slope = %

y =y =m(x —x;)
y=2=5(x=2)

5) Through (—1,—5),slope =9
y—y1=m(x —x)
y+5=9(x+1)

7) Through (—4,1),slope = %
y—y1=m(x—x)
y—1= %(x +4)

9) Through (0,—2), slope = —3
Y=y =m(x —xq)
y+2=-3(x—0)
y+2=-3x

11) Through (0, —5), slope = _i

y—y1=m(x —x)
y+5=—2(x—0)

y+5=—%x

13) Through (=5, —3), slope = %

y—y1=m(x —x)
y+3==-(x+5)

15) Through (—1,4), slope = _;

y—y1=m(x —xq)
y—4=—§(x+1)

17) Through (—1,—5), slope = 2
y—y1=m(x—x)
y+5=2(x+1)

y+5=2x+2
-5 -5
y=2x—3

19) Through (5,—1), slope = —%
y—y1=m(x —x)
y+1=-2(x-5)
y+1= —%x +3

-1 -1
y= —§x+2

21) Through (—4,1), slope = %
y—y1=m(x —x)
y—1= %(x +4)

y—1=%x+2
+1 +1
y=%x+3

23) Through (4,—2), slope = _g
y =y, =m(x — x)
y+2=—2(x—4)
y+2= —§x+6

—2 =2
3
y=-3x +4

25) Through (—=5,—3), slope = _é
y_yl = m(x_xl)
y+3=—-2(x+5)

y+3=—2x-2



27) Through (2,—2),slope = 1 41) Through (3,—3) & (—4,5)
y—y1=m(x —x) _5=(3)_ 8

+2=1(x-2 —4-3 7
Y ( ) y—y1=m(x—xq)

y+2=x-2 8
-2 -2 y+3=—;(x—3)
y=x—4
43) Through (—5,1) & (—1,-2)
29) Through (—3,4), slope = undefined m= _1__2(__15) = _%
x=-3 y—y1=m(x —x)
) y—1=—-2(x+5)
31) Through (—4, 2), slope = -3 3 15
y—1l=—-=-x——
y—y1=m(x —x) 4 ; 1‘;
1 —_——_= —_—— - —
y—2=—--(x+4) Y3 4 4
4 4
y—2=—lx—2 ta ta
2 3 11
+2 @ +2 y=—2X—T
1
y=-3x
45) Through (—5,5) & (2,—3)
_ -3-5 8
33) Through (—4,3) & (—3,1) m=—"5-"7
1-3 -2
m=—_——5=71=-"2 y—y1=n;(x—x1)
y—y1=m(x —x) y—5=—;(x+5)
y—3=-2(x+4) y_5:_§x_$
_35__8,_4%
35) Through (5,1) & (—3,0) Y= =73%73
e N +2 + 2
-3-5 -8 8
_ 8 5
y—y1 =m(x —xq) y=--x—:

1
y=1=3(x=5)

47) Through (4,1) & (1,4)

37) Through (—4,-2) & (0,4) m=21_3__4
_4-(-2) _6 _3 1-4 -3

_0_(_4)_2_5 y_y1=m(x_x1)

y—y1=m(x—x) y—1=-1(x—-4)

m

3 y—1l=—-x+4
+2==-(x+4
Y SR 41 41
y=—-x+4
39) Through (3,5) & (-5, 3)
_ 35 _—2_1
T —5-3 -8 4

y =y =mx —x)
y=5=5(x=3)



49) Through (0,2) & (5,—3) 51) Through (0,3) & (—1,—1)

=5o =5 =S5 =54
y—y1=m(x —x) y—y1 =m(x—x)
y—2=-1(x-0) y—3=4(x—-0)
y—2=—x y—3=4x

+2 +2 _+3 +3

y=—x+2 y=4x+3



